2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S
ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100
5001 fRrerer gfvss T 46 27 73 25.6 ikl
5002 o A foees 47 39 86 27.8 3fror
5003 TET 9T ATART 49 50 99 30.6 3<frot
5004 I 9T AT 48 38 86 27.6 3<frot
5005 fAfaw Aree A=t 47 50 97 30.6 ik
5006 IEEERIER SR 48 50 98 30.6 3<frot
5007 srforeTaT Heft Feft 48 50 98 30.6 3<frot
5008 (ERUICER R ICE 49 50 99 32.0 3<frot
5009 AL TET T[T 49 50 99 30.6 3<frot
5010 fAerer fa.ameae 47 35 82 27.0 ikl
5011 feraer famane AT 43 50 93 30.6 3<frot
5012 o fro wTe 48 50 98 30.6 3<frot
5013 99T T 48 50 98 30.6 3<frot
5014 EREIRERUITEY 49 50 99 30.6 3fror
5015 [EEIRIEIEC 48 50 98 30.6 3<frot
5016 ST ZATAT TS 50 50 100 31.6 3<frot
5017 ol U {7 48 50 98 36.0 3<frot
5018 faforerT SToTT e 49 50 99 31.4 ERIL]
5019 afyar ggo @ 49 50 99 30.5 ERIL]
5020 SISTT AT 3T 49 50 99 31.4 ERIL]



2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S

ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5021 qTaAT a0 T T 0 & ELRIE G
5022 AT TH AT 49 50 99 31.4 3<frot
5023 e 34T & 49 38 87 27.6 3<frot
5024 T & U 49 0 49 15.6 = -l
5025 AT % 46 50 96 30.0 3<frot
5026 FAfordT Hew 47 50 97 49.0 ikl
5027 sifaT faerr 47 50 97 31.4 ik
5028 AT freror oo 49 50 99 31.4 3<frot
5029 AT TS 48 50 98 31.4 3<frot
5030 T " 2t 49 29 78 25.8 3<frot
5031 LR RIE 48 50 98 30.8 3<frot
5032 TSN FHTE HAT 49 50 99 30.8 Exikil
5033 TEA T 45 50 95 30.8 ik
5034 et 7. e 47 48 95 29.6 3<frot
5035 foreaT FRATRY T 48 50 98 30.8 3<frot
5036 ST 9T JHIT 9 48 37 85 27.4 ik
5037 FEAT IOTLT AT 49 48 97 29.5 ik
5038 Faet 9ATH ATET T T 0 T ELRIEK
5039 et «fihra fors 48 50 98 38.0 ERIL]
5040 AT SqT @y 47 12 59 22.3 = -l



%—(ﬂ £9reToT ST g faEs

TISTATYT T
T Fal 2017 g7 i TheT: el S
ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100
5041 e afee a9 47 50 97 30.8 ik
5042 TYHT ToTi e 46 50 96 30.2 3<frot
5043 TH FHATHY 48 0 48 8.0 & -l
5044 AT T 48 15 63 22.9 T -l
5045 AT qFmTa 34 0 34 20.0 & -l
5046 feft ferer Mo 48 50 98 30.0 3<frot
5047 HAST ST HA 47 50 97 30.5 ik
5048 i AR FleahT 48 46 94 29.2 ik
5049 T U TTde 47 50 97 30.6 It
5050 AT AT saeer 47 50 97 30.0 ik
5051 cERIRIET 50 50 100 30.0 ik
5052 TTS] FT HETT 45 50 95 39.0 ik
5053 HATST FHTT HT 43 50 93 30.0 3<frot
5054 Tfow wfora T 48 50 98 30.0 3<frot
5055 F T {ATE AT 993 47 50 97 38.2 It
5056 TUaT 3 =T aq aq 0 aq ELRIK
5057 TeAT fae ot aq aq 0 1 ERRI2 0]
5058 e srrer foro 48 50 98 30.6 ERIL]
5059 BT e deare 50 43 93 28.6 ERIL]

5060 qara et s 49 50 99 30.6 ik



2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S
ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5061 o S R 49 50 99 30.6 Exikil
5062 o wwer wrfeer 49 50 99 30.6 Exikil
5063 Srorer qATT AT 48 34 82 26.8 3<frot
5064 STEITT FEUIT T 48 50 98 30.6 Exikil
5065 [EEEIEIR L RIET 49 50 99 30.6 Exikil
5066 AT G qEa 47 50 97 30.4 ik
5067 frar forasi= At 47 50 97 30.6 ik
5068 HATAT gae SreraT 45 49 94 29.7 ik
5069 EEIREISICE 47 49 96 29.8 3<frot
5070 TEAAT TR TEHT 49 50 99 31.4 3<frot
5071 HHT FHT 49 50 99 30.0 Exikil
5072 fafae s =T 45 31 76 26.2 ik
5073 fotes 29+ i 48 0 48 19.2 = -l
5074 TR Mg EeH 47 50 97 31.4 ik
5075 TIATT A TS 48 50 98 31.4 ik
5076 [EEEERILS 47 50 97 35.1 ik
5077 ARSI Farad 44 0 44 0.0 = -l
5078 HATS T 47 0 47 0.0 = -l
5079 TS FHIY TG 49 0 49 0.0 T -l
5080 [ECIEREREEIC 47 50 97 34.8 ik



%—(ﬂ f9reToT TISTET g faEs

TISTATYT T
T Fal 2017 g7 i TheT: el S
ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100
5081 AR T 36 46 34 80 26.8 Exikil
5082 At =szFia e 48 39 87 27.7 ik
5083 AT TS AT 46 50 96 30.8 Exikil
5084 9T FHTY IT&T 48 0 48 17.2 = -l
5085 AN =g JIC 48 0 48 10.4 & -l
5086 g FHT =0T qTS 48 50 98 30.8 Exikil
5087 wrarefY s T T T 0 & ELRIK
5088 HIHHT Toieg TTHEY 49 50 99 30.0 Exikil
5089 Hraer 54T sfeeae 49 50 99 32.9 Exikil
5090 HreTet e 7 49 50 99 39.4 Exikil
5091 STegaT T&T e 49 50 99 451 3<frot
5092 Zh FHTT 9T 49 50 99 37.1 3<frot
5093 [EGIGASIE RS 47 50 97 31.6 ik
5094 fAeter 1A= 49 50 99 30.0 Exikil
5095 YT HITH STHRHTS 49 50 99 36.0 3fror
5096 EIEEICEAECIR RN DIE 47 50 97 30.0 ikl
5097 afver TaT 48 50 98 43.0 Exikil
5098 o T Tt 27 0 27 0.0 = -l
5099 qoIe g7 famror aq aq 0 aq ELRIEK

5100 ZeraT The oA 37 0 37 0.0 = -l



2T fRreor TS
BEEIMBER U

g faEs

ER Sl 2017 eI EE ) TheT: el S
AR TemlY #7 AT T 91 T2 T T g
50 50 100

5101 TfSrar TfgamE 48 0 48 0.0 = -l
5102 FOTett forgTe et 47 9 56 21.8 = -l
5103 YT THRTETH AHTad 50 14 64 22.8 = -l
5104 GIECIE K EAICES 49 0 49 18.8 = -l
5105 RIEER IR 46 0 46 18.4 T -l
5106 EEREIEECRIEY 21 0 21 0.0 ST
5107 GEREIR I E 42 0 42 0.0 = -l
5108 a7 TTHEET T T 0 & ELRIK
5109 e warfera =r=gor 41 0 41 13.2 = -l
5110 IHI HEFHT qTENA 48 14 62 22.8 = -l
5111 HATT YA FlATHT £l £l 0 q EREIERE]
5112 IECIRER: R CICREIERT T T 0 & ELRIK
5113 QATH FOUT ARTLL 36 0 36 12.0 = -l
5114 LT AT SgAFT 44 0 44 14.0 T -l
5115 T T AT 47 0 47 0.0 = -l
5116 e AT FEHIT 39 0 39 16.6 T -l
5117 [EERREEERIPEEIES 21 0 21 0.0 S
5118 TTLET FTS{ TS S TETAFRT T T 0 & ELRIEK
5119 oo gt e 4 0 4 0.0 SRk
5120 e I AT ) ) 0 o ELRIEK



2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S

ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5121 fafera faro waw 10 0 10 0.0 AT
5122 TqATH IEATH AT 14 0 14 0.0 S
5123 REEFAEEIETRIES 27 0 27 0.0 = -l
5124 a9 T g 47 48 95 29.6 ik
5125 THTHTT FHT 49 50 99 30.6 Exikil
5126 AqA FHTT AT 49 50 99 30.6 Rl
5127 T FHTT 48 50 98 30.6 3hrot
5128 FEITST AT 42 50 92 30.6 Exikil
5129 AT FHTT T T 0 & ELRIK
5130 el ZHT HIGA RN 44 50 94 314 ikl
5131 [ERET IR 45 50 95 31.4 ik
5132 qefter FHTT oAt 47 50 97 49.4 ik
5133 T3 sy A 46 50 96 31.4 Exikil
5134 TH Fq9 AR aq aq 0 El EREI2k
5135 qaq FA 47 50 97 30.8 ik
5136 SATHTIT TATT T T 0 & ELRIK
5137 a9 f¥g 3w 47 50 97 30.8 ik
5138 FI] TTALT FHTT 47 50 97 39.1 ik
5139 Ao T 3foue 0 0 0 0.0 o
5140 A9 AETFAAAT aq aq 0 1 ERRI2 0]



2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S

ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5141 LISCRERIC] aq aq 0 El EREI2
5142 Y F aq aq 0 El EREI2
5143 STTATE AT AS aq aq 0 El EREI2
5144 AT a a 0 el EREIERn]
5145 TH TS TrAE! 48 50 08 44.0 3fror
5146 AT FHIT aq aq 0 1 ELRl2 0]
5147 TEATOTT & AT aq aq 0 El EREI2
5148 I TEHT 45 28 73 25.5 ik
5149 e 45 27 72 254 Rl
5150 o FA 37 0 37 12.5 = -l
5151 THREATET AT 49 28 77 25.5 ik
5152 EERRRIES] 46 50 96 30.6 3hrot
5153 [ECUEKIE 48 28 76 25.6 ik
5154 srfaTer feefio g9 aq aq 0 El EREI2k
5155 AT THTHT AT T T 0 & ELRIK
5156 FLES qAT% AT 45 45 90 28.9 ik
5157 AT AT AT 49 50 99 30.6 Exikil
5158 T SR T 34 0 34 12.0 T -l
5159 TEAST THTE FATT 47 50 97 31.4 ik
5160 HET AT ST 48 50 98 31.4 ERIL]



fgéTﬁﬁEWTd¥aﬂT .y faFs

TISTATYT T
T Fal 2017 g7 i TheT: el S
ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100
5161 e AT e 46 0 46 15.1 = -l
5162 ERIEAECEIR I e 49 49 98 29.7 3<frot
5163 gfadar arafFaT T T T 0 & ELRIE G
5164 HAH T 47 0 47 7.2 T -l
5165 fraT Arer o 48 45 93 29.0 3<frot
5166 ERIGIRAE A CICES 49 21 70 26.2 = -l
5167 oo AT ST 49 50 99 31.4 3<frot
5168 forame AT T TEreT 48 50 98 30.2 Exikil
5169 TfgaT™ HY & aq aq 0 1 ELRl2 0]
5170 srfareTer FHTT 48 38 86 27.6 3<frot
5171 forereft gerra AT 46 43 89 28.6 Exikil
5172 ATHIY T2 45 50 95 30.2 Rl
5173 EERK RN 27 0 27 19.2 T -l
5174 T gt 48 50 98 30.8 3hrot
5175 A T A 47 50 97 30.8 Rl
5176 Tferq et 49 48 97 29.5 ik
5177 4T AT 49 50 99 38.0 3hrot
5178 ol FEIw ToreTaT 48 50 98 30.0 3hrot
5179 I ITZET AT 47 37 84 27.3 ik

5180 3T T ATET 48 50 98 30.0 ik



2T fRreor TS

EEINMBER U]

g faEs

ER 2017 eI To TheT: el S

ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5181 AT LT THTA 45 46 91 29.1 ik
5182 EEEREIEIG] 41 0 41 17.1 T -l
5183 TS SIS o7 44 50 94 30.0 Exikil
5184 e fhReTY STt 40 17 57 23.2 = -l
5185 T FATE et 48 50 98 30.0 Exikil
5186 TR 3T FradET T T 0 & ELRIK
5187 T FTLAATT AR 41 16 57 23.2 = -l
5188 orrar wreft 46 35 81 26.9 3<frot
5189 I T T 0 & ELRIK
5190 AT reft 3T 50 50 100 30.0 Exikil
5191 LT TATALTH FATT 45 0 45 18.1 = -l
5192 [EERAECREKIEETY 47 50 97 30.0 Rl
5193 IECRRTCEISIESURIE T T 0 & ELRIK
5194 FIAT fasTr deahe 47 50 97 30.0 Rl
5195 FIRIAT SIS0 ATEAFT 47 50 97 30.0 3hrot
5196 EREIREE 48 0 48 0.0 T -l
5197 T T 46 0 46 0.0 T -l
5198 At AT For 45 42 87 28.4 ikl
5199 HTAH woer T 48 49 97 29.8 ERIL]
5200 T famer S 46 49 95 29.8 Exikil

10



2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S

ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5201 ST fardie e Eroqy 48 49 97 29.8 Exiki]
5202 2T FAY aq aq 0 El EREI2
5203 FET FHTT WA T T 0 & ELRIE G
5204 T FHTT ATTEHT aq aq 0 El EREI2
5205 IERIRERIG IR EIEE T T 0 & ELRIE G
5206 ST ATHET T 47 49 96 29.8 Exiki]
5207 iR Tover FTer 43 43 86 28.5 Exiki]
5208 Fvshia foig 47 50 97 30.8 ikl
5209 ERLERCIE 46 0 46 0.0 = -l
5210 ST FA 44 41 85 28.1 Enik]
5211 AT ATATSH T 48 0 48 0.0 = -l
5212 STTAT HIATET TIE 47 29 76 25.8 Rl
5213 T A Ery 46 49 95 29.8 Exiki]
5214 TOTIT THIT TRTL 48 39 87 27.8 Exiki]
5215 ST AT AEe 46 50 96 30.8 ERik]
5216 YT T 2ATTE 45 50 95 30.8 EnI]
5217 Trer faeehe AT aq aq 0 El EREI2k
5218 BIERIE] 45 50 95 30.4 ikl
5219 FYXT AR L& H 45 39 84 27.7 Rl
5220 TS FHTT 22 0 22 0.0 S

1"



%—(ﬂ £9reToT ST g faEs

TISTATYT T
T Fal 2017 g7 i TheT: el S
ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100
5221 AT q@S( 43 25 68 25.0 Rl
5222 TTT AT fAeeT 48 35 83 26.9 ik
5223 9T FHTT aq aq 0 1 ELRl2 0]
5224 T FATL AT a a 0 el EREIERn]
5225 HATS FHTT FAT T T 0 & ELRIE G
5226 foveg A 39 0 39 18.7 & -l
5227 IEIREIEERT 46 13 59 22.6 = -l
5228 T FHTE 38 33 71 26.6 Exikil
5229 ST T 47 50 97 30.3 ik
5230 A FAT aq aq 0 1 ELRl2 0]
5231 ST FAT aq aq 0 El EREI2
5232 AT i FaHe 47 33 80 26.6 Exikil
5233 [EEERIE] 46 50 96 30.0 Exikil
5234 TAwg FHTL AT 47 50 97 30.6 ik
5235 LTI T 44 50 94 30.6 Exikil
5236 At arquer 47 49 96 29.7 ik
5237 off ATt o 47 50 97 29.9 ikl
5238 2% faeTe ST 48 50 98 30.6 Exikil
5239 THIT I 48 50 98 30.6 Exikil

5240 AT FHTT 48 50 98 30.6 ik



2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S
ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100
5241 ST 39T T 48 50 98 30.6 ik
5242 FALT FHTT 48 50 98 30.0 Rl
5243 Tt AT 50 50 100 30.0 3<frot
5244 ERREIRIEIC] 48 50 98 31.4 3<frot
5245 FTATE @TET 49 50 99 30.8 3<frot
5246 T A Fogm 48 50 98 31.4 3<frot
5247 T @A 48 50 98 30.9 Exikil
5248 AT TRTIT 48 50 98 30.1 3<frot
5249 e fiig 48 50 98 30.0 3<frot
5250 fecor @ 48 44 92 28.8 ik
5251 ez g 48 50 98 30.6 3<frot
5252 s e 48 50 98 31.4 3<frot
5253 g forg 48 50 98 30.0 3<frot
5254 HATST FHTT 48 48 96 29.6 3<frot
5255 T qrferaTT 48 50 98 30.3 ik
5256 AT g Frefirer 48 50 98 30.8 3<frot
5257 TR AT 48 50 98 30.5 ERiL
5258 ST TS 48 50 98 30.6 ERIL]
5259 o 46 50 96 30.8 ERIL]
5260 ElCEREEIEER CIC 48 50 98 30.5 ERIL]

13



2T fRreor TS
BEEIMBER U

g faEs

ER Sl 2017 eI EE ) TheT: el S

AR TemlY #7 AT T 91 T2 T T g
50 50 100

5261 T FET faerE 47 50 97 30.8 Enibli
5262 TTSAT AT T aq aq 0 El EREI2
5263 EEpRICiE] 48 49 97 29.8 Exikil
5264 A wgaeft 45 50 95 30.0 EAII
5265 FeAToT AR 48 50 98 29.4 Exikil
5266 AT T 36 0 36 0.0 T -l
5267 AAALHT TH AT 42 0 42 11.2 T -l
5268 Qe TH ST aq aq 0 El EREI2
5269 arTeT forage 37 0 37 0.0 = -l
5270 T erfaATer T T 0 & ELRIK
5271 LEIERIEI 21 0 21 0.0 S
5272 Zoh =TT 42 0 42 12.0 T -l
5273 ST 44 0 44 12.0 = -l
5274 iferes faer 14 0 14 0.0 ST
5275 e JTeET 16 0 16 0.0 ST
5276 % A 20 0 20 0.0 Ao
5277 HTAT AR 34 0 34 11.0 T -l
5278 T FA g 42 0 42 0.0 T -l
5279 FHTI ST 43 0 43 0.0 = -l
5280 TIHAT AT 47 0 47 0.0 = -l

14



2T fRreor TS
BEEIMBER U

g faEs

T Fal 2017 g7 i TheT: el S

ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5281 Rarer AT ST 46 0 46 15.0 = -l
5282 sifara fig 48 50 98 30.6 3<frot
5283 AT FHT T aq aq 0 1 ELRl2 0]
5284 T T s 47 50 97 30.6 ik
5285 e fRig TR 45 50 95 30.6 ikl
5286 I T TEZATA 46 50 96 30.0 3<frot
5287 ARTAT STATA 47 50 97 30.0 ik
5288 Foraq fearer e 49 50 99 30.0 3<frot
5289 ST ATHTS aq aq 0 El EREI2
5290 g THTE 49 50 99 31.4 3<frot
5291 T TSE 9THT 45 50 95 31.4 ik
5292 BT Tea 3|y 48 50 98 31.4 3<frot
5293 s Zaa farea 47 42 89 28.4 3fror
5294 ATHAT T 47 50 97 31.4 ik
5295 TSTT TTET BTHY 42 0 42 0.0 = -l
5296 Tt fog Ty 47 50 97 314 ikl
5297 CIEEREEIRI 46 50 96 30.8 3<frot
5298 AT T 47 50 97 30.0 ik
5299 FAEICCIRS 48 50 98 30.8 ERIL]
5300 TR ZL9T FAALTHTAT 47 50 97 30.8 ikl

15



2T fRreor TS

EEINMBER U]

g faEs

ER 2017 eI To TheT: el S

AR TemlY #7 AT T 91 T2 T T g
50 50 100

5301 foretrer sefaT 3 43 29 72 25.8 Rl
5302 TSI ATELAT THEFHL 41 0 41 19.0 = -l
5303 FATI AETALE THTH 36 0 36 17.0 = -l
5304 SATHAT ST TTHATT 46 1 47 20.2 T -l
5305 sifera AATE ara 46 0 46 0.0 T -l
5306 ff UF TH [HEE 26 0 26 0.0 & -l
5307 HfeT FAR WA 45 0 45 0.0 = -l
5308 FUEEIRIER] 50 0 50 0.0 = -l
5309 T FAAF 50 0 50 0.0 = -l
5310 HITY Hrs AT JIET 46 43 89 28.6 Exikil
5311 e TarT FHT aq aq 0 El EREI2
5312 ST TrerEe AT 49 50 99 31.4 Exikil
5313 BRI T T 0 & ELRIK
5314 oot AT ST 48 50 98 31.4 Exikil
5315 [EEERGEAERI 47 50 97 31.4 ik
5316 TTSAT SAAFHTE 48 30 78 25.9 Exikil
5317 AT STENAAT AGHISAAT 45 21 66 24.2 = -l
5318 T e T FETE T T 0 & ERRIE)
5319 STfore FHTE 50 50 100 31.4 Exikil
5320 TaH A T5TH 48 0 48 0.0 = -l

16
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g faEs

T Fal 2017 g7 i TheT: el S

ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
50 50 100

5321 FIAHLHATE TH qref=ar 45 0 45 0.0 & -l
5322 TeTTa ST TrearHt 46 0 46 0.0 = -l
5323 SR HHT 48 39 87 27.7 ikl
5324 RERIEIEE 49 44 93 28.7 Exikil
5325 oz fiig e 45 50 95 30.8 ikl
5326 SOt HIAT 46 48 94 29.5 Exikil
5327 fargf v e 48 50 98 30.6 Exikil
5328 I FHY 47 50 97 30.6 ik
5329 TTSTT FHTT 47 50 97 30.6 ik
5330 B8 FAT aq aq 0 aq ELRIK
5331 TSTATET FHIT 43 0 43 19.8 = -l
5332 TTheT FHTY 48 50 98 30.6 Exikil
5333 T FAFAET 48 25 73 245 ik
5334 TEIT FHTT 47 50 97 30.8 ik
5335 EEIE TR 43 50 93 30.8 Exikil
5336 EERIEIESCINIES 44 50 94 30.8 Exikil
5337 TTST9T FHTT 44 50 94 30.8 Exikil
5338 T A &g 46 50 96 30.8 Exikil
5339 R T 31 0 31 17.8 = -l
5340 T FEHT T 39 0 39 0.0 T -l

17
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ER Sl 2017 eI EE ) TheT: el S
AR TemlY #7 AT T 91 T2 T T g
50 50 100

5341 TATLT TATHT AL 41 0 41 0.0 = -l
5342 AT TATST SRS 42 0 42 0.0 = -l
5343 TTSTET FHTL AT 44 0 44 0.0 = -l
5344 AT e HHTHT 7 7 0 7 ERRISE]
5345 . rfere @ T T 0 & ELRIE G
5346 T ag ALTSH aq aq 0 1 ELRl2 0]
5347 G ST qTaHFT T T 0 & ELRIK
5348 TR FHTT aq aq 0 El EREI2
5349 T T FHTHT aq aq 0 1 ELRl2 0]
5350 ATITHT TSTH T T 0 T ELRIK
5351 7oz faga arhe 41 0 41 0.0 = -l
5352 TSTHHTE AT TAT 37 0 37 6.0 = -l
5353 AT ALTAT AT 33 0 33 6.0 = -l
5354 TSz sy g 26 0 26 0.0 = -l
5355 HATAT FHFIT Fiaer T T 0 T ELRIK
5356 T ST TTae 26 0 26 6.0 = -l
5357 LERLEIEERS 46 0 46 6.0 = -l
5358 HATT AR 47 0 47 6.0 = -l
5359 ElREAEEIG 46 0 46 0.0 = -l

5360 AT X 47 0 47 7.0 = -l



2T fRreor TS
BEEIMBER U

g faEs

ER Sl 2017 eI EE ) TheT: el S

AR TemlY #7 AT T 91 T2 T T g
50 50 100

5361 T ST FeATS 0 aq 0 El ERin]
5362 GERRCIEC] aq aq 0 El EREI2
5363 AT T aq aq 0 aq ELRl2 0]
5364 FO FHTT 47 50 97 30.8 ik
5365 T Fegaar 15 0 15 0.0 S
5366 EERRERETICECE: CIEY 13 0 13 0.0 AT
5367 FTT QT TrEe 14 0 14 0.0 AT
5368 QTFRITAwE ST T T 0 T ELRIK
5369 T SRTfRer ¥t aq aq 0 aq ELRIK
5370 e gy qrea T T 0 & ELRIK
5371 AT FLFLHTL BT £l £l 0 q EREIERE]
5372 TSN FHTT aq aq 0 El EREI2
5373 EOECIRECIREREI G T T 0 & ELRIK
5374 TS FHTT ATATL aq aq 0 El EREI2k
5375 EIRIECE] & & 0 T ELRIK
5376 TH FET FIEHT aq aq 0 El EREI2k
5377 T HETad TaTY 18 0 18 0.0 AT
5378 ToHT qETH A 42 0 42 9.0 = -l
5379 IHY TN FHEE 16 0 16 0.0 S
5380 TH U U A q q 0 q ELRIEK
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g faEs

ER Sl 2017 eI EE ) TheT: el S
AR TemlY #7 AT T 91 T2 T T g
50 50 100

5381 Frirar ATt 46 0 46 12.0 = -l
5382 HHTA AT e 34 0 34 0.0 = -l
5383 e stert FT=C 44 0 44 12.0 T -l
5384 T ATTRTL ST 28 0 28 4.8 = -l
5385 Hoter FATE AT 30 0 30 8.6 = -l
5386 THTEALT ST HESAAT 6 0 6 0.0 AT
5387 TEITAH FHIY aq aq 0 1 ELRl2 0]
5388 HTEET i qTaHT aq aq 0 aq ELRl2 0]
5389 ot Fee AEHT aq aq 0 aq ELRl2 0]
5390 AT AT aq aq 0 aq ELRl2 0]
5391 ATHT S T T 0 & ELRIK
5392 FaT AT aq aq 0 El EREI2
5393 AT AT & & 0 & ELRIK
5394 AT gaE aq aq 0 El EREI2k
5395 STESTT IUTEY T T 0 & ELRIK
5396 FqdT IS T T 0 T ELRIK
5397 qFe= 7.faaw £l £l 0 £l EREIERE]
5398 AT AIETY & & 0 & ELRIEK
5399 AT =TT T T 0 T ELRIEK
5400 [EEAGEET:IRS aq aq 0 El EREI2k

20



2T fRreor TS
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T Fal 2017 g7 i TheT: el S
ERETIE] TEETAT T AT T A1 TIIA2 T T
50 50 100

5401 ITT FOTT A q T 0 EREIEE
5402 T A wETe aq aq 0 EREI2
5403 AT AT aq aq 0 ELRl2 0]
5404 T 3T aq aq 0 ELRl2 0]
5405 e 9 aq aq 0 ELRl2 0]
5406 HIYET ST FHTT e} e} 0 EREIERn]
5407 FTeAt FATFAT AETSA aq aq 0 ELRl2 0]
5408 orfar AT forst aq aq 0 ELRl2 0]
5409 A= g TR 1 ) 0 ELRl2 0]
5410 ATSIETY T 43 aq aq 0 ELRl2 0]
5411 IGIEIGAT aq aq 0 EREI2
5412 fRxsyer Y T+t S} 7 0 EREIEE
5413 R o aq aq 0 EREI2k
5414 EERENCCIRIICIE] aq aq 0 EREI2k
5415 T qATT HEw aq aq 0 EREI2k
5416 AT ST aq aq 0 EREI2k
5417 St g aq aq 0 EREI2k
5418 THTE AEHIT TS THHT aq aq 0 ERRI2 0]
5419 2T T aq aq 0 ERRI2 0]
5420 [EEICRAERII aq aq 0 ERRI2 0]
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5421 [EEERIERItI} £l £l 0 q EREIERE]
5422 LRICERICIE £l £l 0 q EREIERE]
5423 el & va e aq aq 0 El EREI2
5424 A TAHIT £l £l 0 q EREIERE]
5425 QAT AT AT aq aq 0 El EREI2
5426 AT FFHELT ATATEHT aq aq 0 El EREI2
5427 Trfeoft T feuer £l £l 0 q EREIERE]
5428 T Wigaw Frfefeme 46 0 46 13.0 = -l
5429 FHAT 3T AT 39 0 39 18.8 = -l
5430 T T[UTET FAEHL aq aq 0 El EREI2
5431 =t ffig 36 0 36 16.0 = -l
5432 far Aresady 32 0 32 5.4 = -l
5433 TIIT FET < 20 0 20 10.0 AT
5434 TR ool 23 0 23 10.0 AT
5435 9 AT fHg T T 0 & ELRIK
5436 TSI T FAFT aq aq 0 El EREI2k
5437 SISTeAT U STTerer aq aq 0 El EREI2k
5438 AT . OTaqH aq aq 0 El EREI2k
5439 orfer fore frerar T T 0 & ELRIEK
5440 GIEIRER IR bl aq aq 0 El EREI2k
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50 50 100

5441 fafere e oot a a 0 el EREIERn]
5442 RS R AR a a 0 el EREIERn]
5443 g5 fage seare T T 0 & ELRIE G
5444 FHAT FATHERT T T 0 & ELRIE G
5445 T AT FeheIS aq aq 0 1 ELRl2 0]
5446 s arde aq aq 0 1 ELRl2 0]
5447 arfaera faraTsir fare T T 0 & ELRIK
5448 T AT TATATT aq aq 0 1 ELRl2 0]
5449 A qFEE ST 43 0 43 14.0 = -l
5450 IERIEIRKIC IR RS aq aq 0 El EREI2
5451 ety T 49 50 99 30.6 ot
5452 gqfa fF 47 50 97 30.6 ik
5453 Y gar 47 50 97 30.6 ikl
5454 IERERIE 48 50 98 30.6 ikl
5455 HIqEe w0 et 48 50 98 30.6 ik
5456 AT FHT 48 50 98 30.6 ikl
5457 qTF gAA 48 50 98 30.6 ik
5458 AT uTfee 48 50 98 30.6 ikl
5459 TEAT % ATH 49 50 99 30.6 ikl
5460 Ty orforeT 49 50 99 30.6 ikl
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5461 HETeT Ty & uH 47 0 47 14.4 T -l
5462 = o 36 7 43 21.4 = -l
5463 e AT T 47 50 97 31.4 It
5464 TAAFATT I TTIF 49 50 99 31.4 Rl
5465 ElEERRET 47 50 97 31.4 ik
5466 arer At 49 50 99 31.4 Exikil
5467 Har Sft faefe 48 50 98 31.4 Exikil
5468 HATATTI St 49 50 99 31.4 Exikil
5469 9T FHTY 49 50 99 31.4 Exikil
5470 AT FOT 46 50 96 31.4 Exikil
5471 qqA ATATA T 47 50 97 30.6 ik
5472 Iy TH THTE 48 50 98 30.6 Exikil
5473 fSrirer weher 49 50 99 30.6 Exikil
5474 EEREGIEIEIEN 47 50 97 30.6 ik
5475 FEIAT ST T 47 50 97 30.6 Rl
5476 TOLTATS FIHATS gAq(d 42 28 70 25.6 Rl
5477 7wz fdte Tea 48 50 98 30.6 Rl
5478 S+ Y amre 47 50 97 30.6 ik
5479 Srerer vH gerata 47 50 97 30.6 It
5480 AT FITAF T T 50 50 100 30.6 Exikil
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5481 TIAFHTY TTH AT 41 50 91 30.6 ikl
5482 Srfrer TR TF wew 40 50 90 30.6 ikl
5483 AT T AT aq aq 0 1 ELRl2 0]
5484 FAAT AT 45 50 95 30.0 EAII
5485 qrer g TS aq aq 0 El EREI2
5486 ST AT o 46 46 92 29.1 ik
5487 FOT FASTATALN 47 50 97 30.6 ik
5488 TH U qTadT 46 50 96 30.6 ikl
5489 P CECEIE T T 0 & ELRIK
5490 fhaT s 42 50 92 30.6 ikl
5491 TS ST 46 50 96 30.6 ikl
5492 FYoTT I[UTET HIE 48 50 98 30.6 ikl
5493 Tfereg FHT FXgqA 48 50 98 30.6 ikl
5494 TH FAATIAT aq aq 0 El EREI2k
5495 T gie T T 0 & ERRIE)
5496 HATEL T a9 2 0 2 0.0 AT
5497 51T FHATT aq aq 0 El EREI2k
5498 EEnE] 7 0 7 0.0 S
5499 T q1g T@H 0 0 0 0.0 S
5500 AT TETHS 46 50 96 30.6 3fror
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5501 TTST9T SATH T T 0 & ELRIE G
5502 Trfed FAT 97 47 34 81 26.8 ik
5503 [EERERECEIEE] 42 50 92 30.6 3<frot
5504 AT AT 42 50 92 31.4 ik
5505 faerer T ot 48 48 96 29.6 3<frot
5506 TSATe9T TeTT AT 50 47 97 29.4 ik
5507 faremTer Ter ET 48 47 95 29.4 ik
5508 FTCAFETT AT STHT 48 38 86 27.6 3<frot
5509 e T 48 50 98 30.8 3<frot
5510 BISEREEPREIRD] 49 50 99 30.2 3<frot
5511 HETE AATSEIT SETET 49 50 99 30.6 Exikil
5512 ITAH FeS( 47 50 97 30.6 ik
5513 farerer srareT 48 50 98 30.6 Exikil
5514 affra ey 49 50 99 30.6 Exikil
5515 ATERY 19 4(g aq aq 0 El EREI2k
5516 AEFT TTET T T 0 & ELRIK
5517 ATHSIa Festt 46 50 96 30.6 Rl
5518 faefi g 48 50 98 30.6 Exikil
5519 HiguT= g fae 38 50 88 30.6 Exikil
5520 qFHTT FAC aq aq 0 El EREI2k
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5521 TTeTer 49 50 99 30.6 Exikil
5522 ESEUC]E g 45 50 95 30.6 ik
5523 aferer 2T 43 50 93 30.6 3<frot
5524 TEfaes &g 43 50 93 30.6 Exikil
5525 Taq FH ATET 46 50 96 30.6 ik
5526 TS FAT 45 50 95 30.6 ik
5527 i 9T T aq aq 0 El EREI2
5528 TERTET AT 49 50 99 30.6 ikl
5529 JuTe JHTE AT T T 0 & ELRIK
5530 ST o0 T T T 0 T ELRIK
5531 TH A 50 50 100 31.4 ik
5532 FHTT gH=T ol 50 50 100 31.4 ik
5533 T =7 a9t 50 50 100 314 ikl
5534 St Tt yET 49 50 99 31.4 3<frot
5535 FA ITA T35 50 50 100 31.4 ik
5536 TerTe U 49 50 99 31.4 3<frot
5537 g g 50 50 100 31.4 ik
5538 ECAR NS 50 50 100 31.4 3<frof
5539 T =2 50 50 100 31.4 ik
5540 qr e 50 50 100 31.4 ik
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5541 sTTrer g wEte 48 50 98 31.4 Exikil
5542 AT FATT AT 50 50 100 31.4 ik
5543 HEIGIRREIRIE] 49 50 99 31.4 Exikil
5544 A 46 49 95 29.7 ik
5545 YT TR 50 50 100 31.4 ik
5546 T ST 47 50 97 31.4 Exikil
5547 e FA™ 48 50 98 31.4 ik
5548 Y T IaH 50 50 100 31.4 ik
5549 qarTear =Jry 50 50 100 31.4 ik
5550 FO0 T foig 46 25 71 25.4 ikl
5551 T FHT qTee T T T 0 & ELRIK
5552 o g =™ aq aq 0 El EREI2
5553 THEY 4 0 4 0.0 AT
5554 TH Ta¥T 47 0 47 11.8 TF -l
5555 SR STt 47 0 47 14.0 T -l
5556 FeaT THTT 46 0 46 9.0 = -l
5557 ST AT 45 0 45 14.0 = -l
5558 TEA FATY aq aq 0 aq ELRIEK
5559 gfear T uE 19 0 19 0.0 o
5560 TR HIEAT 40 0 40 0.0 T -l
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5561 ENETICl 40 0 40 0.0 = -l
5562 qrfer e FEH 32 0 32 0.0 = -l
5563 A FHTE AT 20 0 20 0.0 ST
5564 TR FHY aq aq 0 El EREI2
5565 39 FH 9T aq aq 0 aq ELRIE G
5566 TaAT THTT 42 0 42 0.0 T -l
5567 I FHY aq aq 0 1 ELRl2 0]
5568 e erforia amaroy 46 50 96 30.6 Exiki]
5569 ST ATATATEH AT 48 0 48 18.8 = -l
5570 EEMIBIKIGIRICIEE Y 47 0 47 0.0 = -l
5571 TSI HRYT TaTY 47 0 47 0.0 = -l
5572 ST=T THTH Fhagor 48 0 48 19.1 = -l
5573 T ATHTITH I 49 50 99 30.6 ik
5574 = T 287 47 50 97 30.6 ikl
5575 g A aae 48 0 48 0.0 = -l
5576 EEIECIFEREICEE 45 0 45 0.0 = -l
5577 Sfar Feraa A 47 50 97 30.6 Rl
5578 AT SFHT T 49 43 92 28.5 Rl
5579 TS FHTT 44 0 44 0.0 T -l
5580 THEL [ATEE G 22 0 22 0.0 S
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5581 EIECIEFEI R EE Al 33 0 33 0.0 T -l
5582 ST ETTH AT T T 0 & ELRIE G
5583 HeqA TTHA (Rl 32 0 32 12.8 T -l
5584 ATAFATH A AHS ATHS 19 0 19 0.0 S
5585 T HATH "ETeA 43 0 43 18.0 = -l
5586 LT AT A 43 0 43 13.6 = -l
5587 feer vw ISt 31 0 31 12.4 & -l
5588 T AT 49 50 99 30.6 Exikil
5589 HfFuT FHfve TEa™ 47 0 47 0.0 = -l
5590 LENERAE PRI CIE 45 0 45 0.0 = -l
5591 CIREERICEREL T T 0 & ELRIK
5592 AT e FvE 47 32 79 26.3 Rl
5593 STEYEr THET FIAET 43 50 93 30.6 Exikil
5594 FR2oT AT STEE 47 50 97 30.6 ik
5595 ECIEREEIREIC IS 45 50 95 30.6 Rl
5596 EICRPEREELCIC] 43 0 43 15.6 = -l
5597 feaer Fherd IR 47 50 97 30.6 ik
5598 e gue e 45 50 95 30.6 ikl
5599 ZfaaTE dewor ArAEaTe 43 50 93 30.6 ik
5600 Frdrer qeette® agETS T T 0 T ELRIEK
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5601 STTHETE AT gael 49 33 82 26.6 Exikil
5602 [EEURECIERCLY 44 0 44 12.2 T -l
5603 AT AT wETee 50 38 88 27.6 Exikil
5604 forarsreTe foree STreaTer 49 50 99 31.4 Exikil
5605 S [EETH AT 49 0 49 222 T -l
5606 T A ATE 50 50 100 31.4 Exikil
5607 Ao "= T 50 50 100 31.4 ik
5608 AT TegTE e 46 50 96 31.4 Exikil
5609 AT AR A0 45 50 95 314 ikl
5610 Tt aTg 49 50 99 31.4 Exikil
5611 HRT TS AT 50 50 100 31.4 Exikil
5612 HATT TTHETH ST 50 50 100 30.8 Exiki]
5613 =TI FEaE ATaERT 50 50 100 30.8 Exiki]
5614 oo e T 50 50 100 30.8 Exiki]
5615 Trfoft qLor FTET 50 0 50 23.8 = -l
5616 Trfgeft far fares 50 0 50 0.0 T -l
5617 = THEH T 50 0 50 0.0 = -l
5618 RRILGIRERIRPE 49 50 99 30.8 Exiki]
5619 FRAT Fictrare Ay 49 50 99 30.8 Exiki]
5620 Tt AT fREe 49 50 99 30.8 Exiki]
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5621 gt T WRT 50 50 100 30.8 Exiki]
5622 AT AR TH TAL 49 50 99 30.8 Exiki]
5623 3T 7T T T 0 & ELRIE G
5624 AT srgerrad e e 0 7 ERRISE]
5625 AT FAT aq aq 0 El EREI2
5626 Fo ST g 47 25 72 25.0 ik
5627 TALT AT qTeAST 48 0 48 18.4 = -l
5628 e famer=is @iy 42 0 42 3.2 = -l
5629 AR & AT 48 0 48 18.4 = -l
5630 T2 &g 28 0 28 0.0 = -l
5631 ey forer 49 25 74 25.4 ik
5632 ot Fae 47 0 47 0.0 = -l
5633 TH T 47 0 47 0.0 = -l
5634 EIECESICE 48 0 48 0.0 = -l
5635 LECIE] 49 49 98 29.8 Exikil
5636 fRaer AT 47 49 96 29.8 Exikil
5637 AT FHTT 12T 42 0 42 6.8 = -l
5638 FeAT i THAHATA 44 0 44 21.4 T -l
5639 gt AT T 45 0 45 0.0 T -l
5640 FLE FATL TTed 46 0 46 0.0 = -l
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5641 Freft ATy 41 50 91 30.8 Exiki]
5642 TSI FHTT 48 48 96 29.6 Exikil
5643 HAT FHIT 7T 48 50 98 30.8 Exiki]
5644 SO FHTE 49 0 49 0.0 & -l
5645 AT AT 49 0 49 0.0 T -l
5646 e A fig 49 50 99 30.8 Exiki]
5647 Fefaes AT 49 50 99 30.8 Exiki]
5648 LEREREC 42 0 42 0.0 = -l
5649 Tt FA 46 0 46 0.0 = -l
5650 EIREERIGE 48 0 48 0.0 = -l
5651 TSt FHTE Taq 44 0 44 24.6 = -l
5652 T T ATATS 44 0 44 23.6 = -l
5653 HT TTH 46 0 46 0.0 T -l
5654 EIEEEAEER IR 43 0 43 0.0 = -l
5655 AT 3 YRR 48 50 98 30.4 ik
5656 T o TTad 50 50 100 30.4 Rl
5657 REEIET £l £l 0 q EREIERE]
5658 SATHTET THTT 50 0 50 0.0 T -l
5659 LT FHTT FATSTAT 25 0 25 0.0 T -l

5660 qET FA 50 0 50 0.0 T -l
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ATHRATH Tt &1 AN T T 1 T 97 2 A UG CIRuIE)
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5661 Tt ff FHATHT 0 0 0 0.0 S
5662 EECICIEY 45 33 78 26.6 3<frot
5663 TraTe R STe 48 50 98 30.6 Exikil
5664 TR AT aq aq 0 1 ELRl2 0]
5665 TE T 49 49 98 29.8 3<frot
5666 TaT FHIT T 49 50 99 30.6 Exikil
5667 AT AT g 49 50 99 32.6 Exikil
5668 HATST FHIT 49 50 99 30.6 Exikil
5669 [EERIERIE 49 49 98 29.8 3<frot
5670 T werer 49 0 49 24.1 = -l
5671 T FHTT 49 50 99 30.6 Exikil
5672 FHTE G T 49 50 99 30.6 Exikil
5673 AT FHE TH 50 30 80 26.0 Exikil
5674 Aty FHT 47 50 97 30.6 ik
5675 FUEHTS UF AT 45 28 73 25.5 ERluf
5676 T FET e 48 50 98 30.6 Exikil
5677 AT &I 46 50 96 30.6 Rl
5678 StoT JRTAT 47 43 90 28.6 ERIL]
5679 erTferT fig 47 50 97 30.6 ikl
5680 FATATS UH T 47 50 97 30.6 3hrot
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5681 TG qeaTATE STRITATS 45 37 82 27.4 ik
5682 AAfera FAT 46 50 96 31.4 Exikil
5683 it AT FewTe 46 40 86 28.0 Exikil
5684 TS aTaEg grefiars 46 42 88 28.4 ERluf
5685 T TATHEATE 45 31 76 26.2 ERluf
5686 TR TS 43 50 93 31.4 Exikil
5687 TSfte =% AT 47 50 97 31.4 ik
5688 ¥ Y weHTT 44 49 93 29.8 Exikil
5689 HHATAT AT ATANEATS 45 50 95 31.4 3fror
5690 Sraer FAT 25 0 25 0.0 = -l
5691 TEIT FHATT /A T T 0 & ELRIK
5692 aTfaer Tt 26 0 26 6.2 = -l
5693 sy T 43 0 43 0.0 T -l
5694 HATT AT Toget 46 0 46 21.7 = -l
5695 TS fauTet e 39 27 66 25.4 ik
5696 o T 47 29 76 25.8 ik
5697 RG] 47 43 90 28.6 Exikil
5698 g Aferw 28 0 28 0.0 = -l
5699 T 47 44 91 28.8 ik
5700 Erermar faame T 46 0 46 0.0 = -l
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5701 TfyT U I 48 0 48 0.0 & -l
5702 SAHT WTEAT HIoTT 46 0 46 0.0 = -l
5703 HOaT aAad Y 49 0 49 0.0 = -l
5704 [EEREICEETRIRCES 10 0 10 0.0 SRk
5705 eI FHT ATES 47 50 97 30.5 ik
5706 ST FATT qTfeeT 49 0 49 20.0 = -l
5707 HE TH ATATUHT 42 0 42 0.0 & -l
5708 FALT 44 0 44 18.8 = -l
5709 a7 o off 16 0 16 0.0 SRk
5710 Huftia FATC 42 0 42 0.0 = -l
5711 EIRE R L] £l £l 0 q EREIERE]
5712 ERTE-S El El 0 aq ELRl2 0]
5713 e I ER a a 0 el EREIERn]
5714 TTATFR o 43 0 43 11.6 = -l
5715 S ot are 49 25 74 24.8 Rl
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